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PART A — (10 x 1 = 10 marks)

Btart ®  Init

Answer ALL questions.

hiun \
Choose the correct answer. (d) Resume

1. Javais : B visibility label is default in Java?
(a) Simple () Portable Public
() O0O0P (d) Al of thess ivate

2. What is the value of 7%10?
(@ 1 (b)
© 7 @ o

None of these
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10.

To get input from keyboard ——

package 18 used.

(a) Applet (o) AWT

() 10 (d) NET
HTML stands for

(a) Hyper Text Markup Language

(b) Hybrid Markup Language

(¢) Hyper Text Media Language

(d) Hyper Transfer Markup Language
AWT stands for

(a) Abstract Window Toolkit

(b) Abstract Window Toolbar

(c) Auto Window Toolkit

(d) Auto Window Toolbar

Which of the following is default layout?
(a) Flow

(b) Grid

(¢ Border

(@ Card

PART B — (5 x 5 = 25 marks)
iwer ALL questions, choosing either (a) or (b).
lifich answer should not exceed 250 words.

Explain about operators used in Java.

Or

)} Explain about type conversion and casting.
Explain about constructor with example.

Or
|

‘What is Access control? Explain about Access
. gpecifiers. :

:Ex’plain about packages.

Or

Explain about try and catch with example.

Bxplain about simple applet display method.

Or

lixplain about any five Event Listener
interfaces.
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15. (a) Describe about window fundamentalf
example.

Or
(b) Describe about labels with example.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) oF
Each answer should not exceed 600 wordh

16. (a) Explain about the data typeé of Javu,
Or

() What is array and explain about ;
arrays with example.

17. (a) Explain about: (1) Argument
(ii) Returning object.

Or

(b) Explain about inheritance basis.
18. (a) Explain about interfaces with exuaii

: Or
(b) Explain about throw, throws and li



What is event class? Explain about any five
event class with example.

Or

‘Explain about:

‘ (i)  The html applet tag 4

(ii) Passing parameters to Applets 3

(i) Write a simple program for étatus
i window creation using Applets.

Explain about working with Graphics AWT

components,
|
|

Or

Explain  about an& four  control
fundamentals.
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Third Semester
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BENTIALS OF FINANCIAL ACCOUNTING
lr those who joined in J uly 2016 onwards)
fliree hours Maximum : 75 marks
PART A— (10 x 1 = 10 marks)
Answer ALL questions.
0B th(;: correct answer :
Wi g is opposite of

(b) capital

(d) expense

is one to whom a debt is owed.
proprietor (b) debtor
reditor (d) none V"



A commences a business with a capital of
account 18 debited in the ookl

10,000 ing stock is

(@) A’s () cash debited in trading account
o capital d) none . - .

() P (d ‘credited in trading account

Goods returned by customers are recorded 1n credi : ;
‘credited in profit and loss account

(a) sales book debi : 1
ebited in profit and loss account

(b} purchase book i
sheet is a

(c) sales return book
(b) account

jedger Ok

\ls and payment account shows

(d) purchase return book
Trial balance is prep ared to find out the

(a) profit and loss i
income and expenditure

(b) financial position
. 'L ;. sh rec g Y .

(© arithmetical accuracy of the account eipts and payments
(d) balance sheet nssets and liabilities

Qtate which of the following errors will n

revealed by the Trial balance Bding institutions prep
' are

(a) errors of complete omission Borit &loss alc

(b) error of carrying forward B ifacturing alc

o) wrong totaling of the purchase book
© fome and expenditure a/c

(d) error of carrying backward
Page 2 Code No.: :
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PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b),

11. (a) Describe the objectives of accounting.

Or

(b) Explain the” Bases of accounting”.

12. (a) dJournalise the following transactions in

books of Mr.Arun.

Mr.Arun commenced business
with cash

(=

2017 dan

9 Purchased goods for cash

3 Purchased goods from Mr.
Balu on credit

7 Paid into Bank
10 Purchased furniture
21 Sold goods to geetha on credit,
95 Cash Sales
26 Paid to Mohan on account
31 Paid salaries
Or

(b) Explain how to post journal ent
Ledger.

Page 4 Code No. 1 %

Explain how to locate errors in trial balance.

Or

Write the Specimen form of trial balance.

State the difference between trading and
profit and loss account.

Or

State the difference between trial balance
and balance sheet.

Distinguish between income and expenditure
account and profit and loss account.

Or

Prepare income and expenditure account
from the following receipts and payment
account of Kamaraj Sports club for the year
ending 313t Dec 2005

_ Rs. Payments Rs.
i b/d 1,000 By rent 400
520 By sundry expenses 420
6,600 By postage & 140
Telegram
By stationary 60
By investment 2,000
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e ——TTT

By Balance c/d: Ram returned us goods worth Rs 100

Cash in Bank Sold goods to Dani for Rs. 300 less 10% trade
discount

Cash in hand

Dani returned us goods worth Rs. 50

8,120 Bought goods from Easwer for Rs 300

Sold goods to Gopal for Rs. 130

Additional information : |
@) Subscription from member outslill
in 315t Dec 2005, Rs. 400.

(i) Rent due but not paid on 31 Dog
Rs. 120.

Or

Enter the following transaction in a cash
bock 2003.

PART C — (5 x 8 = 40 marks) Rs.

Answer ALL questions, choosing either (a) or R R
nsy Cash sales 3,000

3rief i ious types of accoull
16. (a) DBriefly explain vark o

Or

: o
(b) What are accounting conventions!

them.

1
1
2
4  Received from Seenu 2,500
7 Deposited into bank 1,000
9

17. (a) Enter the following transactions | Bought goods 250

subgidiary records 13 Paid Taxi charges 140

May 1 Purchased goods from John for Re [l 15 Paid wages .
‘ 10% trade discount

20 Cash sales 1,300

4 Returned John goods worth Rs.100

8 Sold goods to Ram for Rs. 400 less 1l
discount

21 Received from Gopal 2,000
24 Paid auto charges 40
Page 7 Code No. : 21244



18.

(a)

(b)

26 Bought goods

30 Bought furniture
29 Paid salary

30 Paid wages

30 Paid rent-

31 Paid to Mahesh

Rectify the following errors
Purchase book is overcast by Rs. 1,300
Sales book undercast by Rs.2,500
Purchase return book overcast by Rs. [

Sales return book under cast by Rs.fi(

Or

Prepare Trial balance from the follow

Capital 75,000
Stock 30,000
Purchases 50,000
Interest (Cr.) 5,000
Bills Payable 9,000
Bad debts 2,000
Page 8

1,600 Explain any one structure of the balance

1,000 sheet.

Or

Write the specimen form of Profit and loss
account.

1,500
470

1,000
r Write the specimen form of Receipts and
550 payments account.

Or

Compute the expenditure to be shown in
income and expenditure account from the
liowing

Rs.
Sporis materials 20,000
purchased for cash
Opening stock of sports 5,000
material
Slellad | Closing stock of sports 8,000
materials
Debtors :
Opening creditors for 7,000
salary sports materials
Loan Cash paid to creditors 22,000
for sports materials
wages _ . :
_Closmg creditors for 6,000
cash sports materials
Code No.
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(i) Stationary purchased 40,000
during the year

Opening stock of 8,000
stationary
Closing stock of 9,000
stationary

Page 10 Code No,
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B.C.A. (CBCS) DEGREE EXAMINATION, APRII, &
‘hich of the following gives maxterm

First Semester imbination?

Computer Applications — Allied | AND
| OR
DIGITAL DESIGN -
~ Neither (a) nor (b)

(For those who joined in July 2016 onwardn) Mo of these

Time : Three hours Maximum : 70 i !
' ith of the following represent exclusive NOR

x®y ®) (x®y)
(x o y) (d) None of these

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

ll-adder circuit consists of

1.  Which of the following is 2's comploii al
10000112 its and outputs.
(a) 1000011 2
(®) 1111111 ) 3

(¢) 0111101
(d) 0111100

Code No. : 21249
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10.

Which of the following is said to be a uniw
gate?

(a) NOR () AND
(¢ NAND (d) XOR

PART B — (5 x 5 = 25 marks)

awer ALL questions, choosing either (a) or (b) in
about 250 words each.

() Find the complement of F, = x(y z + yz).
If an encoder has 2° input lines then It
output lines.

(@ n+l ®b) n+2
() n (d n+3

Or

li) Convert the following decimal number *0
into octal number (i) 153 (@1) 0.513.

The state of a flip-flop is switched by chanyul

) Bhow that the dual of the exclusive - OR is
control of

equal to its complement.

(a) Output (b) Input %
(c) Trigger (d) None of thess
i Explain in detail about Don't care conditions.
ROM can perform only the - O :
(a) Write (b) Read BB+ 2 NAND logic diagram that implements

“the complement of the following function :

d (d) All the above
() Both (a) and (b) . F(A,B,C,D)=3(0,1,2,3,4,8,9,12).

A shift register shifting binary inforin
direction(s).

Or

(@) One - Design and explain binary subtractor.
(b) Both
© (a)or (b)

(@) (=2)and (b)

Define decoder. Explain with neat diagram.
Or
" plain transition table of flip-flop.
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15. (a) Short notes on (i) ROM (i) RAM.

Or
(b) Explain BCD counter with diagram.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b}, §
about 600 words each.

16. (a) Explain the following :
(i) Hexa decimal number.
(i) Boolean algebra.
Or
(b) Convert the following into decimal numhi
(1 10101010: (i) 101010s
(1i) 10101016 (iv) ABCDss.

17. (a) Simplify the following function F, {1
with don't care conditions d,

Flx,y,2)=2(0,1,2,4,5)

d(x, y,2)=2(3, 6,7)

Fl(x, y,2,t)=X(1,3,5,79,15)

d(x, y, z, t) = X(4, 6,12,13)

@)
(ii)

Or
() Simplify the Boolean function by using &
F=%(0,1,24,586,8,9,1213,14).

Page 5 Code No. 1




(@) Simplify the following Boolean functions,
using three-variable maps :

@  Flr,5,2)=%(0,1,57)
@) Flx,y,2)=3(1 23,86 7).
Or
Explain in detail about binary adder.
Explain full adder circuit with neat diagram.

Or

1) Explain any on flip-flop circuit with neat
diagram.

'J?Explain in detail about types of ROM and its
operations.

Or

What is the use of hamming code? Explain
With example.
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» most powerful variations of linked list is

Third Semester
Computer Applications — Allied | Multilinked list
DATA STRUCTURES | Circularly linked list
(For those who joined in July 2017 onwa rnl Doubly linked list
Singly linked list

Time : Three hours Maximum : T

[ine 1 : - 0
PARTA——(lO L 1=10 marks) ar list is in which each element has

Answer ALL questions. A general

Choose the correct answer . R .
A unique successor

A restricted

(2) Clustering A linked list

(b) Bucket hashing
structure.

(©) Collision
(b) Dequeue

(d) Collision resolution
(d) FILO
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llr

Pop removes the items at the orting is useful for.

stack. ) Report generation
(a) Empty (b) Top j) Responding queries easily
(¢) Full (d) Bottom ) Making searches easily
Which of the following need not be a binaty [) All of these
PART B — (6 x 5 = 25 marks)

(a) Search tree (b) Heap 3 . :

wer ALL questions, choosing either (a) or (b).
(c) AVL tree (d) B-tree

Jach answer should not exceed 250 words.

A leaf is a node with an .
) Write about open addressing types of

(a) Out degree of zero methods.

(b) Indegree of one
Or

it b h !
(c) Out degree branc ) Write about ADT Give an example.

(d) Indegree branch |
) Explain doubly linked list.

Sort efficiency is a measure of the

sort. Or

(a) Relative efficiency ) Explain the concept of linked list.

(b) Ascending

) Evaluate Postflx expressions using stack.

(c) Descending Or

(d) Selection sort ) Write about queue structure.

Page 3 Code No.: L) Page 4 Code No.:R 21251
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14. (a) Write about heap data structure.
Or
(b) Write about expression trees with an exi
15. (a) Explain the graph Storage Structure.
Or
(b) Explain the quick sort.
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (I

Each answer should not exceed 600 wordH,

16. (a) Write about binary search with algorith

Or

(b) Describe about hashed list search
examples.

17. (a) Write about multilinked list.

Or
(b) Describe in details linked list algorithm,

18. (a) Explain queue algorithm.
Or

() Describe about  queue linkod
implementation.
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Explain the binary search tree and opera;tions.
Or

Explain about the basic heap algorithm.
[$xplain the shortest path algorithm.

Or

[ixplain the operations on graph.
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